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Q. 3(a)

Q. 3(b)

Q. 3(0)

Q. 4(a)

Q. 4(b)

Q. 4(c)

g3l freom 3 FER w67 3 e &M ¥ afwow e v @ & Rl
ST WEY N YA F@ & ? W grAvm w@ey ;e § 3 ¥ wweAiy gl
N fre @R yola F@ § 7

According to Hendry Mintzberg, how does the power dynamics between various parts of
the organisation, result in different structural forms of organisation ? What are these
structural forms, and how do they affect organisational effectiveness ? 20
“ATeT Fpln us dnfeiae @9ft @ e @ @e @ 3R A wwem s sme
T Iad: Iaa Aftes Rgww ¥ @R gahim & Profg sl & 10 @ Fa A @ren
FIMC TF YT WEA@AF GUST A WEpad qHERN F AHETT T |

“Organisation culture is the long term phenomenon that decides the success or failure of
the mission and vision of the organisation and ultimately its survival in the current global
scenario.” Explain this statement and also identify the cultural problems of modern business

prganisations. 20

NGPAF TEEIG-aIeAl W T YOYCIT FFgROTE S Y U@ FHE THE i
BT E? oAy W AEd P W oavd IR B e ¥ @@ Ay

In post modern-organisations, are traditional concepts like line and staff functions

irrelevant ? Do you think so ? Give arguments in support of your answer. 10

“IATE, FEEdl, @Ee @ TRum wisa ¢f REkm et & v w e @eEr
N OAA AW TGS TN & vega w8, R Ff 77 dmedw wEEr # R dahaw
aﬁmmm%l”mﬁm%mwm%?wmﬁaﬁmwﬁ

% fog gem afm|

“8-0-B-C model gives tnly a bare bones sketch of organisation behaviour rather than a
full blown explanation. However it can serve as a conceptual framework for organisational

behaviour.” What do you mean by this statement ? Give suggestions to enrich this model.
20

RIS AANATT T & 7 T FE 399 FHEd § IHg |19 i de d g
a1 aureoms) @ e geEr I e @ & ? faaww S

What is positive psychology ? How can Indian companies use the concepts of the same
to foster entrepreneurial thinking in their workforce ? Explain. 20
g Amiea gEdl gas quEen 97 @ gwEgiar ¥ sfvgfa s 200 fees
g |

“Organisational citizenship behaviour enhances the effectiveness of quality circles.” Comment.
10
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Q. 7(a)

Q. 7(b)

Q. 7(e)

Q. 8(a)

Q. §(b)

Q. 8(c)

“360° wiatwm wafa dieivg B 1 w3 wEl AR wRa ¥ @ g R
A IR a@ FEad w1 ff ThEm S
“360° feedback system is gaining popularity.” Comment. Also examine the barriers to its

effective implementation in India. 20

e B YEE N w9 @ B ogeed § Far T afutias 1948 F
e g2 W 81 W 2 AWM E P w9 weww € B 9= W 9 g
Bt =ieg ? g Jee B wwdA ¥ q@ difeay

“I.T. Companies in India seek special concessions in the Factories Act of 1948, for their
establishments.” What are these concessions ? Do you agree that these should be

granted ? Give arguments in support of your answer. 20

“GAoPrE e Yeen A gm A aefier@ @ ww ¥ R ofFw R fraraga ¥ wwd
WA} A Iraemear 81 RAawa AR

“Constitutional provisions are in favour of Workers Participation in Management, but its
implementation requires effective strategies.” Discuss. 10
"Hi YA IR FECE AT AT Fad FFH FCN Twdl 8 1 TR G FTm
a2 7 @ e § sl g qwn sferiaa geTEeh 3= fhe yE s yer
FT ARG & 7 =@ A

“Majority of I.T. Companies are keen to reduce their labour turnover.” What are the
reasons for it 2 How could exit interviews and post exit questionnaires enable them to do
so ? Comment. 20
“Tfew dREl wF 9Am & e qer Rawfed @ wrwlRE Rwaw #f smavgwa akdh
21" ==l FQ) wRE Ran @EEn ® yatua w01 ® R R oqe W e R
W |TeY 7 :

“Collective bargaining requires mutual trust among key stakeholders within an industry.”
Comment. What considerations are to be taken into account in managing collective bargaining
arrangements ? 20
“1991 & afaw AT TR AT 5 FEEH afgE S aeeAT ® T R T
e &1 qEaiFa g |

“Changing Indian labour legislations is the last unfinished agenda since 1991.” Assess its

rationale. 10
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